
450 Conn Road 
Lumby, BC  Canada, V0E 2G4

Phone: (866) 440-8121
Fax: (866) 297-9594

www.proecoproducts.com

FF-8000 - Floating Fountain Lighting Kit

FF-XXX-LED

www.proecoproducts.com
Email: info@proecoproducts.com

Installation Instructions
Included in the kit:
4) 6 Watt WW or RGB Lights
1) 100’ cable
1) 6 way splitter
1) Controller with remote  (RGB) or 
     Dimmer with remote (WW)

Stainless Mounting Hardware
8) 1/4” Fender Washers
16) 1/4” Flat washers
8) 1/4” Jam nuts
4) 1/4 x 1” Bolts
4) 1/4” x 2 1/2’ Eye Bolts with nuts

Repeat hardware installation for all tether loops on float, once complete proceed with: 
1) Plug lights into the 6 way splitter  making sure the channel keyway tab and slot on the plug are aligned as     
shown.
2) Plug the 6 way splitter into the 100’ cable 
3) Plug the 100’ cable into the controller
4) Plug the controller into the power supply
5) Plug the power supply into a GFI receptacle.

Follow controller directions included with controller/dimmer

5) Jam Nut

Bottom of Float

3) Fender  Washer

2) Flat  Washer

1) Bolt

4) Flat  Washer

FLOAT

Ensure 
tab and slot

are aligned

FLOAT

Light Bracket

6) Jam Nut

Top of Float

5) Flat Washer

3) Fender  Washer

1) Eye Bolt with nut

2) Flat Washer

4) Light Bracket

Follow the sequence below in numerical order to install the float 
hardware for each light.


